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LSE-06 : PLANT DEVELOPMENT BIOLOGY AND

ANIMAL DEVELOPMENT BIOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Use separate answer sheets for Part I and
Part II. Be brief and precise in your answers.
Draw neat and labelled diagrams wherever

necessary.
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Part—I (Marks : 25)
(Plant Development Biology)

Note : (i) Question No. 1 is compulsory.

(i1) Attempt any four questions from

Question Nos. 2 to 7.

(iti)All questions carry equal marks.

1. (a) Choose the correct term from given in

bracket : 2

(1) The cells of the (endothelium/middle
layers) are usually short lived and are
used up quite early during the

development of microspores.

(11) (Reaction wood/Heart wood) develops
due to an increased xylem production
on either the upper or lower side of the

branch.
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(b) Fill in the blanks : 2

(1) Embryos from any cell of embryo sac

without fertilization are known as

(11) Histologically phellogen consists of

single layer of ............... cells.

(c) Write the technical terms of the following

statements : 1

(1) The type of pollination for which the
flowers have a peculiar string odour
and are borne singly or in clusters

away from the branches or foliage.

(i1) In-vitro clonal propagation of plants.

Describe the various types of seed appendages
giving how they help in dispersal or

germination. 5

Make a list of various cambial variants in
angiosperm stem. Write a detailed account of

any two of them giving examples. 2+3=5
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Define apomixis. Explain its causes and
significance. 1+2+2=5
With the help of diagrams only describe the

development of the following : 2%+2%=5
(a) Pollen wall
(b) Fritillaria type of embryo sac

Differentiate  between gametophytic and

sporophytic types of self-incompatibility. 5

What are somatic hybrids and cybrids ? How
are they produced and what 1is their

significance ? 5
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Part—II (Marks : 25)

(Animal Development Biology)

Note : (i) Question No. 1 is compulsory.

(i1) Attempt any four questions from

Question Nos. 2 to 7.

(iti)All questions carry equal marks.

1. (a) Distinguish between the following : 1x3=3
(1) Morula and blastula
(1) Telolecithal and centrolecithal egg
(i11) Carcinoma and lymphoma

(b) Fill in the blanks by choosing appropriate

words given in brackets : 1x2=2

(1) Innermost layer of the mammalian eye

isthe ...cocovvvveenen. (retina/iris).

(i1) AER 1is abbreviation of ..............

(apical epidermal row/apical

ectodermal ridge).

2. Describe Oogenesis process in mammals. 5
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What are the major derivatives of mesoderm ?
Explain the process of development of blood

cells. 5
What is ageing ? Discuss the consequences of
ageing. 5

Explain with the help of an
example/experiment the genomic equivalence in

embryonic nuclei. 5
Describe the foetal development in humans. 5
Write note on any one of the following : 5
(1) Neoteny

(i1) Patterns of reparative regeneration

(111) Cleavage
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